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Alphabetical

Coding Pattern

 Increasing/decreasing

 Opposite

 Continuous increasing/continuous decreasing

 Two step Coding



In a certain Code language CHAIR is
coded as XSZRI then what will be code
forTABLE?
एक निनित कूट भाषा में CHAIR को XSZRI
के रूप में कूनटत नकया जाता है तो TABLE के
निए कूट क्या होगा?

a) GZYOV
b) GYOZV
c) GOYPV
d) VOYZG
e) None of these



In a certain Code language MAPLE is
coded as NKQZF then what will be code
forTRIAL?
एक निनित कूट भाषा में MAPLE को
NKQZF के रूप में कूटबद्ध नकया जाता है तो
TRIAL के निए कूट क्या होगा?

a) GZJQM
b) GQJZM
c) UZJQM
d) UQJZM
e) None of these



In a certain Code language NOTES is
coded as XIWQO then what will be
code for SLIDE?
एक निनित कूट भाषा में MAPLE को
NKQZF के रूप में कूटबद्ध नकया जाता है तो
TRIAL के निए कूट क्या होगा?

a) TNLJH
b) JHLNT
c) QMOQS
d) SQOMQ
e) None of these



In a certain Code language STATES is
coded as CSTPHR then what will be
code for UNITED?
एक निनित कोड भाषा में STATES को
CSTPHR के रूप में कोड नकया जाता है तो
UNITED को क्या कोड नकया जाएगा?

a) VMKRHA
b) KMAVHR
c) RHAVMK
d) KMVAHR
e) None of these



In a certain Code language COMMENT
is coded as IHAC then what will be code
for CODING?
एक निनित कोड भाषा में COMMENT को
IHAC के रूप में कोनडत नकया जाता है तो
CODING के निए क्या कोड होगा?

a) CID
b) JKQ
c) QKJ
d) IDC
e) None of these



In a certain Code language PENTIUM is
coded as MFQGLTH then what will be
code for WORKING?
एक निनित कूट भाषा में PENTIUM को
MFQGLTH के रूप में कूटबद्ध नकया जाता है,
तो WORKING के निए कूट क्या होगा?

a) SPXPFMH
b) QNVPHOJ
c) HOJPQNV
d) JOHLVNQ
e) None of these



In a certain Code language SYSTEM is
coded as ATXVSJ then what will be
code for NUMBER?
एक निनित कोड भाषा में SYSTEM को
ATXVSJ के रूप में कोनडत नकया जाता है तो
NUMBER के निए क्या कोड होगा?

a) JXOWFP
b) WPFRXJ
c) WOFPXJ
d) JXPFOW
e) None of these



In a certain Code language TRAVEL is
coded as VOEQKE then what will be
code for MODERN?
एक निनित कोड भाषा में TRAVEL को
VOEQKE के रूप में कोड नकया जाता है तो
MODERN के निएक्या कोड होगा?

a) JXOWFP
b) WPFRXJ
c) OLHZXG
d) JXPFOW
e) None of these



In a certain Code language FORMED is
coded as MTOHXU then what will be
code for NORMAL?
एक निनित कोड भाषा में FORMED को
MTOHXU के रूप में कोड नकया जाता है तो
NORMAL के निए क्या कोड होगा?

a) LMNIOZ
b) MLOHPY
c) ZOINML
d) YPHOLM
e) None of these



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘

What is the code for ‘is’ ?

a) oe

b) pq

c) vu

d) Bt

e) None of these



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘

How is the word ‘taste’ coded in the given

language?

a) rt

b) vu

c) debn

d) Bn

e) None of these



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘

What is the code for ‘river’?

a) oe

b) pq

c) wi

d) Cannot be determine

e) None of these



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘

If ‘chicken fry’ is coded as ‘de wq’, then what

will be the code for ‘good’?

a) oe

b) pq

c) vu

d) Rt

e) None of these



‘Boat is in river’ is coded as ‘bt oe pq vu’

‘Fish swim in river’ is coded as ‘oe pq wi sh’

‘Fish fry is good’ is coded as ‘sh vu rt de’

‘Good fry is taste’ is coded as ‘vu de bn rt ‘

How will the statement ‘boat house swim’ be

coded as in the given language?

a) bt pq oe

b) wi sh bt

c) sa wi bt

d) bt pq vu

e) None of these



“T3,T2, S7” means “Truth is eternal”;
“S7, N9, E8,T3”means “Enmity is not eternal”;
“N9, F4,T2, S6” means “Truth does not perish”;
“O1, F5, S7, Z0” means “Honesty is being truthful”.

What are the possible codes of the word “perish”?

a) F4 or F5
b) S6 or S7
c) F4 or S6
d) T3 or S6
e) All of these



“T3,T2, S7” means “Truth is eternal”;
“S7, N9, E8,T3”means “Enmity is not eternal”;
“N9, F4,T2, S6” means “Truth does not perish”;
“O1, F5, S7, Z0” means “Honesty is being truthful”.

In this code language, if the sentence “honesty will
not perish” is coded as “Z0, F2, N9, S6”, what is the
word for the code “Z0”?

a) Honesty
b) Will
c) Not
d) Perish
e) Either a or b



“T3,T2, S7” means “Truth is eternal”;
“S7, N9, E8,T3”means “Enmity is not eternal”;
“N9, F4,T2, S6” means “Truth does not perish”;
“O1, F5, S7, Z0” means “Honesty is being truthful”.

What is the word for the code “S7”?

a) Truth
b) Eternal
c) Not
d) Is
e) Either c or d



“T3,T2, S7” means “Truth is eternal”;
“S7, N9, E8,T3”means “Enmity is not eternal”;
“N9, F4,T2, S6” means “Truth does not perish”;
“O1, F5, S7, Z0” means “Honesty is being truthful”.

What will be the possible code of the sentence
“enmity may perish or may not”?

a) D5 N9T3 N3 D5 S6
b) T2 S6 E8 D5 K7 D5
c) D4 S6T2 E8 K6 N73
d) Both b and c
e) None of these




